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1. VOCABULARY Copy and complete: The equation 5% = 8 is an examp
afm) _? equation.

2
| When do logarithmic equations have extraneous solutions

‘ 2. WRITING
; lve the equation. ’/
SOLVING EXPONENTIAL EQUATIONS Solv 2 +1 5. 8771 =322
x—4 _ x—6 4. 73x+4 49 .
| 3.5 =25 g 8 3\3x— = 8112—3x
[ _ +8 7. 4275 =64 .
| 6. 27T 1=g% ' i
\ . ) 10 1 6x— 1 11 2510x +8 = (-1—;‘?)
. X — = | — B
- C A 10- 10 ()
SOLVING EXPONENTIAL EQUATIONS Solve the equation. j
l.:;
12, 8% = 20 13. ¢* =5 14. 7%= 18 1
@ 11°* = 33 16. 7% = 12 17. 4¢7% = 17
10%+4=9 19. —36* + 16 = 5 20. 0.5" - 0.25= 4
21 2(6) 4+ 1= 22, 2% 55 23, 3g2x 7
. "4 2
SOLVING LOGARITHMIC EQUATIONS Solve the équation. Check for exiraneous
solutions.
.’ 24, log5 (5x+9) = 1og5 6x 25. In(4x~7)=1n (x+11
; 26. In (x + 19) = In (7x — 8) . ' 27. log5 (2x —7) = log5 (3x—9)
i 28. log (12x ~ 11) = log (3x + 13) 29. log, (18x +7) = log, (3x + 38)
I
; 30. lc')g6 (Bx —10) = log, (14 — 5x) 31. log, (5 — 12y = log, (6x ~ 1)
. EXPONENTIATING TO SOLVE EQUATIONS Solve the equation. Check for
| extraneous solutions.
|
[
!| 32. log, x = —~1 : 33. 5Inx =35
i 1 -
| 34. <log; 12x = 2 = 5.2log, 2x = 16
| 36. lo —4) =
| g, (x | 4) =6 37. log2x+log2 (x—2)=3
, 38. log, (—x) + log, (x +10) =2 39. In(x+3) +Inx =
| 40. 4In(—x) +3 = ’
| (—x) +3=21 4]. logs(x+4)+log5 x+D =2
| 42, Iog6 3x + log6 x—1) =3 43. log3 x—-9) + log3 x-3)=>
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Algebra 2

Solving Log EQs w/Properties

Solve each equation.

1) 10g54+10g5x2=2

3) log, 6+log, x=1

5) log, 10—log4(x+9)=10g42

7) log . (6—5x2)+10g5 8 =log . 38

Name

Date

2) log, x +log, 6 =log, 25

4) log, 2x2+10g9 2=1

6) log, (x? +2) —-log,2=1

8) log, (5x—7)+10g3 2=4



